

2.72
4

$$\textcircled{a} \int_{-5}^{-4} \frac{(x+2)^2}{x+3} dx = \int_{-5}^{-4} \frac{x^2+4x+4}{x+3} dx = \int_{-5}^{-4} \frac{(x+3)(x+1)+1}{x+3} dx = \int_{-5}^{-4} \left(x+1 + \frac{1}{x+3}\right) dx =$$

$$= \frac{x^2}{2} + x + \ln|x+3| \Big|_{-5}^{-4} = \left(\frac{16}{2} - 4 + \ln 1\right) - \left(\frac{25}{2} - 5 + \ln 2\right) = -3\frac{1}{2} - \ln 2$$

$$\textcircled{b} \int_{-\frac{\pi}{2}}^{\frac{\pi}{2}} 3x \sin x dx = \frac{1}{2} \int_{-\frac{\pi}{2}}^{\frac{\pi}{2}} (\sin 2x + \sin 2x) dx = 0$$